Pik = 0+000,00
Skala 1:100/100

[ JHum. istn= 0,32m2
[ ]Gruz= 1,10m2
[_INASYP= 0,01m2
[_]WYKDOP= 3,14m2

Pik = 0+079,40
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[ Hum. istn= 0,64m2
[ ]Gruz= 0,52m2
[_]NASYP= 0,37m2
[_]VYKOP= 0,65m2
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[ JHum. istn= 0,82m2
[ ]Gruz= 0,54m2
[_]NASYP= 0,79m2
[ ]VYKOP= 0,91m2
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[_]NASYP= 0,36m2

[ ]VYKOP= 1,28m2

PP, = 128,00

Pik = (0+398,80
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[ ]Hum, istn= 0,89m2
[ ]Gruz= 0,54m2

[ NASYP= 0,13m2
[ ] WYKOP= 1,95m2
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Pik = 0+358,96
Skala 1:100/100
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[ ]Gruz= 0,55m2

[ |NASYP= 0,67m2
[ Jwykop= 116m2
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[ JHum istn= 0,65m2
[ ]Gruz= 0,54m2
[_INASYP= 0,29m2
[_]WYKDP= 0,89n2

[ JHum. istn= 0,70m2
[ ]Gruz= 0,58m2

[ |NASYP= 0,60m2

[ ]wykap= 0,88m2

[ Hum. istn= 0,76m2
[ ]Gruz= 0,85m2
[_INASYP= 0,63m2
[_]VYKOP= 0,76m2

[ ]Hum istn= 0,84m2
[ ]Gruz= 0,53m2
[_]NASYP= 0,43m2
[ ]VYKDP= 1,19m2
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[ ]Hum istn= 0,82m2
[ ]6ruz= 0,54m2
[_]NASYP= 0,28m2

[ ]Hum, istn= 0,812
[ ]Gruz= 0,56m2
[_]NASYP= 0,26m2
[ wykop= 1,34m2

[ Hum, istn= 0,85m2
[ ]Gruz= 0,54m2
[_INASYP= 0,14m2
[_]WYKOP= 1,75m2

[ ]VYKOP= 1.21m2
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[ JHum. isth= 0,66m2
[ ]Gruz= 0,53m2
[_|NASYP= 0,23m2
[_]WYKOP= 0,98n2

[ ]Hum istn= 0,72
[ ]Gruz= 057m2
[_]NASYP= 1,06m2
[_]VYKOP= 0,60m2

[ ]Hum istn= 0,85m2
[ ]Gruz= 0,54m2
[_]NASYP= 0,20m2
[_]VYKOP= 1,52m2

[ JHum. istn= 0,83m2
[ lGruz= 0,55m2
[_INASYP= 0,27m2
[ ]VYKOP= 1,34m2
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[ ]Hum. istn= 0,8n2
[ ]6ruz= 0,55m2
[ NASYP= 0,30m2

[ ]Hum istn= 0,86m2
[ ]Gruz= 0,56m2
[_]NASYP= 0,1tn2
[ ] wYKoP= 1,91m2

[ Hum. istn= 0,86m2
[ ]Gruz= 0,54m2
[_INASYP= 0,34m2
[ ]WYKOP= 1,49m2

[ ]VYKOP= 1,13m2
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